Nonlinear Functional Analysis and Applications Vol. 20, No. 1 (2015), pp. 55-67

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2015 Kyungnam University Press



FIXED POINT RESULTS IN S-METRIC SPACES

Shaban Sedghi¹, Nabi Shobe² and Tatjana Došenović³

¹Department of Mathematics Qaemshahr Branch, Islamic Azad University, Qaemshahr, Iran e-mail: sedghi_gh@yahoo.com

²Department of Mathematics Babol Branch, Islamic Azad University, Babol, Iran e-mail: nabi_shobe@yahoo.com

> ³Faculty of Technology Bulevar Cara Lazara 1, Novi Sad, Serbia e-mail: tatjanad@tf.uns.ac.rs

Abstract. In this paper, the notion of S-metric spaces will be introduced. We present a coupled coincidence point theorems for multi-valued maps on complete S-metric spaces using mixed g-monotone mappings. The single-valued case and an illustrative example are given. Using a similar method as in [4] a common fixed point theorem for three single-valued mappings is obtained in S-metric spaces.

1. INTRODUCTION

The Banach contraction principle is the most celebrated fixed point theorem and has been generalized in various directions. Fixed point problems for contractive mappings in metric spaces with a partially order have been studied by many authors (see [1]-[8]). Bhaskar and Lakshmikantham [3] introduced the concept of coupled fixed point and studied the problems of a uniqueness of a coupled fixed point in partially ordered metric spaces. They applied their theorems to problems of the existence of solution for a periodic boundary

⁰Received June 9, 2014. Revised November 16, 2014.

⁰2010 Mathematics Subject Classification: 54H25, 47H10.

 $^{^0\}mathrm{Keywords}$: S-metric space, fixed point, coupled fixed point, coupled coincidence point, Cauchy sequence.

⁰The corresponding author: sedghi_gh@yahoo.com(Shaban Sedghi Ghadikolaei).

value problem. V. Lakshmikantham and Ćirić ([6]) established some coincidence and common coupled fixed point theorems under nonlinear contractions in partially ordered metric spaces.

In the present paper, we introduce the notion of S-metric spaces and give some properties of them. A coupled coincidence point theorems for multivalued mappings on complete S-metric spaces will be proved. In addition, we give an illustrative example for the single-valued case. Also, it will be proved a common fixed point theorem for three single-valued mappings in complete S-metric spaces.

We begin with the following definition.

Definition 1.1. Let X be a nonempty set. An S-metric on X is a function $S: X^3 \to [0, \infty)$ that satisfies the following conditions, for each $x, y, z, a \in X$,

- $(1) S(x, y, z) \ge 0,$
- (2) S(x, y, z) = 0 if and only if x = y = z,
- (3) $S(x, y, z) \leq S(x, x, a) + S(y, y, a) + S(z, z, a).$

The pair (X, S) is called an *S*-metric space.

Immediate examples of such S-metric spaces are:

- (1) Let $X = \mathbb{R}^n$ and $||\cdot||$ a norm on X, then S(x, y, z) = ||y + z 2x|| + ||y z|| is an S-metric on X.
- (2) Let $X = \mathbb{R}^n$ and $||\cdot||$ a norm on X, then S(x, y, z) = ||x z|| + ||y z|| is an S-metric on X.
- (3) Let X be a nonempty set, d is ordinary metric on X, then S(x, y, z) = d(x, z) + d(y, z) is an S-metric on X.

Lemma 1.2. In an S-metric space, we have S(x, x, y) = S(y, y, x).

Proof. By third condition of S-metric, we have

$$S(x, x, y) \le S(x, x, x) + S(x, x, x) + S(y, y, x) = S(y, y, x)$$
(1.1)

and similarly

$$S(y, y, x) \le S(y, y, y) + S(y, y, y) + S(x, x, y) = S(x, x, y).$$
(1.2)

Hence by (1.1) and (1.2), we get
$$S(x, x, y) = S(y, y, x)$$
.

Definition 1.3. Let (X, S) be an S-metric space. For r > 0 and $x \in X$ we define the open ball $B_S(x, r)$ and closed ball $B_S[x, r]$ with center x and radius r as follows respectively:

$$B_S(x,r) = \{ y \in X : S(y,y,x) < r \},\$$

$$B_S[x,r] = \{ y \in X : S(y,y,x) \le r \}.$$

Example 1.4. Let $X = \mathbb{R}$. Denote S(x, y, z) = |y + z - 2x| + |y - z| for all $x, y, z \in \mathbb{R}$. Thus

$$B_S(1,2) = \{ y \in \mathbb{R} : S(y,y,1) < 2 \} = \{ y \in \mathbb{R} : |y-1| < 1 \}$$
$$= \{ y \in \mathbb{R} : 0 < y < 2 \} = (0,2).$$

Definition 1.5. Let (X, S) be an S-metric space and $A \subset X$.

- (1) If for every $x \in A$ there exists r > 0 such that $B_S(x, r) \subset A$, then the subset A is called open subset of X.
- (2) Subset A of X is said to be S-bounded if there exists r > 0 such that S(x, x, y) < r for all $x, y \in A$.
- (3) A sequence $\{x_n\}$ in X converges to x if and only if $S(x_n, x_n, x) \to 0$ as $n \to \infty$. That is for each $\varepsilon > 0$ there exists $n_0 \in \mathbb{N}$ such that

$$\forall n \ge n_0 \Longrightarrow S(x_n, x_n, x) < \varepsilon$$

and we denote by $\lim_{n\to\infty} x_n = x$.

- (4) Sequence $\{x_n\}$ in X is called a Cauchy sequence if for each $\varepsilon > 0$, there exists $n_0 \in \mathbb{N}$ such that $S(x_n, x_n, x_m) < \varepsilon$ for each $n, m \ge n_0$.
- (5) The S-metric space (X, S) is said to be *complete* if every Cauchy sequence is convergent.
- (6) Let τ be the set of all $A \subset X$ with $x \in A$ if and only if there exists r > 0 such that $B_S(x, r) \subset A$. Then τ is a topology on X (induced by the S-metric S).

Lemma 1.6. Let (X, S) be an S-metric space. If r > 0 and $x \in X$, then the ball $B_S(x, r)$ is open subset of X.

Proof. Let $y \in B_S(x,r)$, hence S(y,y,x) < r. If set $\delta = S(x,x,y)$ and $r' = \frac{r-\delta}{2}$ then we prove that $B_S(y,r') \subseteq B_S(x,r)$. Let $z \in B_S(y,r')$, then S(z,z,y) < r'. By third condition of S-metric we have

$$S(z, z, x) \le S(z, z, y) + S(z, z, y) + S(x, x, y) < 2r' + \delta = r$$

Hence $B_S(y,r') \subseteq B_S(x,r)$. That is the ball $B_S(x,r)$ is a open subset of X.

Lemma 1.7. Let (X, S) be an S-metric space. If sequence $\{x_n\}$ in X converges to x, then x is unique.

Proof. Let $\{x_n\}$ converges to x and y, then for each $\varepsilon > 0$ there exist $n_1, n_2 \in \mathbb{N}$ such that

$$\forall \ n \ge n_1 \Longrightarrow S(x_n, x_n, x) < \frac{\varepsilon}{4}$$

and

$$\forall n \ge n_2 \Longrightarrow S(x_n, x_n, y) < \frac{\varepsilon}{2}.$$

If set $n_0 = \max\{n_1, n_2\}$, then for every $n \ge n_0$ by third condition S-metric we have:

$$S(x, x, y) \le 2S(x, x, x_n) + S(y, y, x_n) < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon.$$

$$S(x, x, y) = 0 \text{ so } x = y.$$

Hence

Lemma 1.8. Let (X, S) be an S-metric space. If sequence $\{x_n\}$ in X is converges to x, then $\{x_n\}$ is a Cauchy sequence.

Proof. Since $\lim_{n\to\infty} x_n = x$ then for each $\varepsilon > 0$ there exists $n_1, n_2 \in \mathbb{N}$ such that

$$n \ge n_1 \Rightarrow S(x_n, x_n, x) < \frac{\varepsilon}{4}$$

and

$$m \ge n_2 \Rightarrow S(x_m, x_m, x) < \frac{\varepsilon}{2}$$

If set $n_0 = \max\{n_1, n_2\}$, then for every $n, m \ge n_0$ by third condition of Smetric we have:

$$S(x_n, x_n, x_m) \le 2S(x_n, x_n, x) + S(x_m, x_m, x) < \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon$$

Hence $\{x_n\}$ is a Cauchy sequence.

Lemma 1.9. Let (X, S) be an S-metric space. If there exist sequences $\{x_n\}$ and $\{y_n\}$ such that $\lim_{n\to\infty} x_n = x$ and $\lim_{n\to\infty} y_n = y$, then

$$\lim_{n \to \infty} S(x_n, x_n, y_n) = S(x, x, y).$$

Proof. Since $\lim_{n\to\infty} x_n = x$ and $\lim_{n\to\infty} y_n = y$, then for each $\varepsilon > 0$ there exist $n_1, n_2 \in \mathbb{N}$ such that

$$\forall \ n \ge n_1 \Rightarrow S(x_n, x_n, x) < \frac{\varepsilon}{4}$$

and

$$\forall \ n \ge n_2 \Rightarrow S(y_n, y_n, y) < \frac{\varepsilon}{4}$$

If set $n_0 = \max\{n_1, n_2\}$, then for every $n \ge n_0$ by third condition of S-metric we have:

$$S(x_n, x_n, y_n) \leq 2S(x_n, x_n, x) + S(y_n, y_n, x)$$

$$\leq 2S(x_n, x_n, x) + 2S(y_n, y_n, y) + S(x, x, y)$$

$$< \frac{\varepsilon}{2} + \frac{\varepsilon}{2} + S(x, x, y) = \varepsilon + S(x, x, y).$$

Hence we have:

$$S(x_n, x_n, y_n) - S(x, x, y) < \varepsilon.$$
(1.3)

On the other hand, we have

$$S(x, x, y) \leq 2S(x, x, x_n) + S(y, y, x_n)$$

$$\leq 2S(x, x, x_n) + 2S(y, y, y_n) + S(x_n, x_n, y_n)$$

$$< \frac{\varepsilon}{2} + \frac{\varepsilon}{2} + S(x_n, x_n, y_n) = \varepsilon + S(x_n, x_n, y_n),$$

that is

$$S(x, x, y) - S(x_n, x_n, y_n) < \varepsilon.$$
(1.4)

Therefore by relations (1.3) and (1.4) we have $|S(x_n, x_n, y_n) - S(x, x, y)| < \varepsilon$, that is

$$\lim_{n \to \infty} S(x_n, x_n, y_n) = S(x, x, y).$$

2. Main Results

Definition 2.1. ([3]) An element $(x, y) \in X \times X$ is called a coupled fixed point of the mapping $F: X \times X \to X$ if

$$F(x,y) = x, \ F(y,x) = y.$$

Definition 2.2. ([6]) An element $(x, y) \in X \times X$ is called a coupled coincidence point of a mappings $F : X \times X \to X$ and $g : X \to X$ if

$$F(x,y) = gx, \ F(y,x) = gy.$$

Definition 2.3. ([6]) Let X be a non-empty set and $F : X \times X \to X$ and $g: X \to X$ are mappings. We say F and g are commutative if

$$gF(x,y) = F(gx,gy)$$

for all $x, y \in X$.

Definition 2.4. ([8]) Suppose (X, \leq) is a partially ordered set and $A, h : X \to X$ are mappings of X into itself. We say A is h-non-decreasing if for $x, y \in X$,

$$h(x) \le h(y)$$
 implies $A(x) \le A(y)$.

Definition 2.5. ([6]) Suppose (X, \leq) is a partially ordered set and F: $X \times X \to X$ and $g: X \to X$ are mappings. We say F has the mixed g-monotone property if F is monotone g-non-decreasing in its first argument and is monotone g-non-increasing in its second argument, if for $x_1, x_2, y_1, y_2 \in X$,

$$gx_1 \leq gx_2$$
 implies $F(x_1, y) \leq F(x_2, y), \forall y \in X$,

and

$$gy_1 \leq gy_2$$
 implies $F(x, y_2) \leq F(x, y_1), \ \forall x \in X$

Example 2.6. Let $X = \mathbb{R}^+$. Define a map F on $X \times X$ as follows:

$$F(x,y) = \frac{x}{y}.$$

If define

$$gx = x^2,$$

then it is easy to see that F and g are commutative and F is g-non-decreasing and non-increasing. Also, if define

$$A = \{ (x, y) \in \mathbb{R}^+ \times \mathbb{R}^+ : xy = 1 \},\$$

then for every $(x_0, y_0) \in A$ is a coupled coincidence point of F and g.

In the proof of our first theorem we use the following lemma:

Lemma 2.7. Let (X, S) be an S-metric space. If there exist sequences $\{x_n\}$ in X such that for every $n \in \mathbb{N}$

$$S(x_n, x_n, x_{n+1}) \le lS(x_{n-1}, x_{n-1}, x_n)$$

for every 0 < l < 1, then sequence $\{x_n\}$ is a Cauchy sequence.

Proof. For every $n \in \mathbb{N}$ and $x_n, x_{n+1} \in X$, we have

$$S(x_n, x_n, x_{n+1}) \leq lS(x_{n-1}, x_{n-1}, x_n)$$

$$\leq l^2 S(x_{n-2}, x_{n-2}, x_{n-1})$$

$$\vdots$$

$$\leq l^n S(x_0, x_0, x_1).$$

Hence for every m > n and 0 < l < 1 we have, by the triangle inequality,

$$S(x_n, x_n, x_m) \leq 2 \sum_{i=n}^{m-2} S(x_i, x_i, x_{i+1}) + S(x_{m-1}, x_{m-1}, x_m)$$

$$\leq 2[l^n + l^{n+1} + \dots + l^{m-1}]S(x_0, x_0, x_1)$$

$$\leq \frac{2l^n}{1-l}S(x_0, x_0, x_1) \longrightarrow 0.$$

Therefore, for each $\epsilon > 0$ there exits $n_0 \in \mathbb{N}$ such that, for each $n, m \ge n_0$

$$S(x_n, x_n, x_m) < \varepsilon.$$

These show that $\{x_n\}$ is a Cauchy sequence in X.

In the next Theorem, if we write $(x, y) \preceq_g (u, v)$ for every $x, y, u, v \in X$, that is $g(x) \leq g(u)$ and $g(y) \geq g(v)$, where (X, \leq) is a partially ordered set and $g: X \to X$ be a mapping.

Definition 2.8. Define $\Psi = \{\psi : [0,\infty) \to [0,\infty) : \psi \text{ is continuous and } \psi(t) \leq kt \text{ for some } k \in (0, \frac{1}{2}), \text{ with } \psi(t) = 0 \text{ if and only if } t = 0 \}.$

Theorem 2.9. Let (X, \leq) be a partially ordered set and (X, S) be a complete S-metric space. Let $F : X \times X \to X$ and $g : X \to X$ be two functions satisfying:

- (i) $F(X \times X) \subseteq g(X)$ and g is continuous and commutes with F,
- (ii) F has the mixed g-monotone property,
- (iii) $S(F(x,y), F(x,y), F(x',y')) \le \psi(S(gx,gx,gx') + S(gy,gy,gy'))$ for all $x, y, x', y' \in X$ and $\psi \in \Psi$ for which $(x,y) \preceq_g (x',y')$,
- (iv) if $(x_n, y_n) \in X \times X$ are two sequences in X such that $(x_n, y_n) \preceq_g (x_{n+1}, y_{n+1})$ and $gx_n \to gx$ and $gy_n \to gy$, then $(x_n, y_n) \preceq_g (x, y)$ for all $n \in \mathbb{N}$,
- (v) if there exists $(x_0, y_0) \in X \times X$ with $g(x_0) \leq F(x_0, y_0)$ and $g(y_0) \geq F(y_0, x_0)$.

Then F and g have a coupled coincidence point. That is there exist $u, v \in X$ such that gu = F(u, v) and gv = F(v, u).

Proof. Since $F(X \times X) \subseteq g(X)$, by (v) we can choose $x_1, y_1 \in X$ such that $gx_1 = F(x_0, y_0)$ and $gy_1 = F(y_0, x_0)$. Again from $F(X \times X) \subseteq g(X)$ we can choose $x_2, y_2 \in X$ such that $gx_2 = F(x_1, y_1)$ and $gy_2 = F(y_1, x_1)$. Continuing this process we can construct two sequences $\{x_n\}$ and $\{y_n\}$ in X such that

$$gx_{n+1} = F(x_n, y_n)$$
 and $gy_{n+1} = F(y_n, x_n)$ for all $n \ge 0.$ (2.1)

Since $g(x_0) \leq F(x_0, y_0)$ and $g(x_1) = F(x_0, y_0)$, we have $g(x_0) \leq g(x_1)$. Then from (ii) we have,

$$F(x_0, y_0) \le F(x_1, y_0).$$

Similarly, since $g(y_0) \ge F(y_0, x_0)$ and $g(y_1) = F(y_0, x_0)$, we have $g(y_1) \le g(y_0)$. Then from (ii) we have,

$$F(x, y_0) \le F(x, y_1) \ \forall x \in X$$

In particular, we get $F(x_1, y_0) \leq F(x_1, y_1)$. Thus $g(x_1) \leq g(x_2)$. Again from (ii) we have, $F(x_1, y_1) \leq F(x_2, y_2)$, that is, $g(x_2) \leq g(x_3)$. Continuing we obtain

$$F(x_0, y_0) \le F(x_1, y_1) \le F(x_2, y_2) \le F(x_3, y_3) \le \cdots$$

$$\le F(x_n, y_n) \le F(x_{n+1}, y_{n+1}) \le \cdots$$

That is

$$g(x_0) \le g(x_1) \le g(x_2) \le \dots \le g(x_{n+1}) \le g(x_{n+2}) \dots$$

Similarly, since $g(y_0) \ge F(y_0, x_0)$ and $g(y_1) = F(y_0, x_0)$, we have $g(y_1) \le g(y_0)$. Then from (ii) we have,

$$F(y_1, x_1) \le F(y_0, x_1).$$

Since $g(x_0) \leq g(x_1)$ from (ii) we have, $F(y_0, x_1) \leq F(y_0, x_0)$. Thus $g(y_2) \leq g(y_1)$. Again from (ii) we have, $F(y_2, x_2) \leq F(y_1, x_1)$, that is, $g(y_3) \leq g(y_2)$. Continuing we obtain

$$\cdots \leq F(y_{n+1}, x_{n+1}) \leq F(y_n, x_n) \\ \leq \cdots \leq F(y_3, x_3) \leq F(y_2, x_2) \leq F(y_1, x_1) \leq F(y_0, x_0).$$

That is

$$\cdots \leq g(y_{n+2}) \leq g(y_{n+1}) \leq \cdots \leq g(y_2) \leq g(y_1) \leq g(y_0).$$

Since $g(x_n) \leq g(x_{n+1})$ and $g(y_n) \geq g(y_{n+1})$, that is $(x_n, y_n) \preceq_g (x_{n+1}, y_{n+1})$. From (iii) we have

$$\begin{aligned} S(gx_{n+1}, gx_{n+1}, gx_{n+2}) &= S(F(x_n, y_n), F(x_n, y_n), F(x_{n+1}, y_{n+1})) \\ &\leq \psi(S(gx_n, gx_n, gx_{n+1}) + S(gy_n, gy_n, gy_{n+1})) \\ &= \psi(\delta_n). \end{aligned}$$

Similarly, since $g(y_{n+1}) \leq g(y_n)$ and $g(x_{n+1}) \geq g(x_n)$, that is $(y_{n+1}, x_{n+1}) \preceq_g (y_n, x_n)$. From (iii) we have,

 $S(gy_{n+1}, gy_{n+1}, gy_{n+2}) \leq \psi(S(gy_n, gy_n, gy_{n+1}) + S(gx_n, gx_n, gx_{n+1})) \\ = \psi(\delta_n),$

where

$$\delta_n = S(gx_n, gx_n, gx_{n+1}) + S(gy_n, gy_n, gy_{n+1}).$$

Adding the above inequalities we obtain

$$\delta_{n+1} \le 2\psi(\delta_n) \le 2k\delta_n.$$

Thus, we have

$$\delta_n \leq l \,\,\delta_{n-1} \leq \cdots \leq l^n \,\,\delta_0,$$

where l = 2k. That is, we have

$$S(gx_n, gx_n, gx_{n+1}) + S(gy_n, gy_n, gy_{n+1}) \le l^n \left[S(gx_0, gx_0, gx_1) + S(gy_0, gy_0, gy_1) \right].$$

Hence for every m > n and 0 < l < 1 we have, by the triangle inequality,

$$\begin{split} S(gx_n, gx_n, gx_m) + S(gy_n, gy_n, gy_m) \\ &\leq 2[S(gx_n, gx_n, gx_{n+1}) + S(gy_n, gy_n, gy_{n+1})] \\ &+ 2[S(gx_{n+1}, gx_{n+1}, gx_{n+2}) + S(gy_{n+1}, gy_{n+1}, gy_{n+2})] \\ &\vdots \\ &+ 2[S(gx_{m-1}, gx_{m-1}, gx_m) + S(gy_{m-1}, gy_{m-1}, gy_m)] \\ &\leq 2[l^n + l^{n+1} + \dots + l^{m-1}][S(gx_0, gx_0, gx_1) + S(gy_0, gy_0, gy_1)] \\ &\leq \frac{2l^n}{1-l} \left[S(gx_0, gx_0, gx_1) + S(gy_0, gy_0, gy_1) \right] \\ &\rightarrow 0. \end{split}$$

Therefore, for each $\epsilon > 0$ there exits $n_0 \in \mathbb{N}$ such that, for each $n, m \ge n_0$

$$S(gx_n, gx_n, gx_m) + S(gy_n, gy_n, gy_m) < \varepsilon$$

Hence

$$S(gx_n, gx_n, gx_m) < \varepsilon$$
 and $S(gy_n, gy_n, gy_m) < \varepsilon$

These shows that $\{gx_n\}$ and $\{gy_n\}$ are Cauchy sequences in X. Since X is complete, there exist $x, y \in X$ such that

$$\lim_{n \to \infty} gx_n = x \text{ and } \lim_{n \to \infty} gy_n = y.$$
(2.2)

From (2.2) and continuity of g, we have

$$\lim_{n \to \infty} ggx_n = gx \text{ and } \lim_{n \to \infty} ggy_n = gy.$$
(2.3)

From (2.1) and commutativity of F and g, we have

$$ggx_{n+1} = gF(x_n, y_n) = F(gx_n, gy_n)$$
 (2.4)

and

$$ggy_{n+1} = gF(y_n, x_n) = F(gy_n, gx_n).$$
 (2.5)

On the other hand, since $gx_n \to x$, and $gy_n \to y$ as $n \to \infty$, then by (2.3), (2.4) we get

$$\begin{aligned} S(ggx_{n+1}, ggx_{n+1}, F(x, y)) &= S(gF(x_n, y_n), gF(x_n, y_n), F(x, y)) \\ &= S(F(gx_n, gy_n), F(gx_n, gy_n), F(x, y)) \\ &\leq \psi(S(ggx_n, ggx_n, gx) + S(ggy_n, ggy_n, gy)). \end{aligned}$$

So letting $n \to \infty$ by Lemma1.9 yields $S(gx, gx, F(x, y)) \leq 0$. Hence gx = F(x, y). Similarly one can show that g(y) = F(y, x).

Corollary 2.10. Let (X, \leq) be a partially ordered set and (X, S) be a complete S-metric space. Let there exists function $F : X \times X \to X$ satisfying:

- (i) F has the mixed I-monotone property, where I is identity map,
- (ii)

$$S(F(x,y),F(x,y),F(u,v)) \le \psi(S(x,x,u) + S(y,y,v))$$

for all $x, y, u, v \in X$ and $\psi \in \Psi$, where $(x, y) \preceq_I (u, v)$,

(iii) if $\{x_n\}$ and $\{y_n\}$ in X are two sequences such that $(x_n, y_n) \preceq_I (x_{n+1}, y_{n+1})$ with $x_n \longrightarrow x$ and $y_n \longrightarrow y$ implies that $(x_n, y_n) \preceq_I (x, y)$, for all $n \in \mathbb{N}$,

(iv) if there exists $(x_0, y_0) \in X \times X$ with $x_0 \leq F(x_0, y_0)$ and $y_0 \geq F(y_0, x_0)$. Then there exist two points $x, y \in X$ such that x = F(x, y) and y = F(y, x).

Proof. If set g = I identity map in Theorem 2.9, then the proof is complete.

Example 2.11. Let (X, \leq) be a partially ordered set and (X, S) be a complete S-metric space, where X = [-3, 3]. For any $x, y, z \in X$, define S(x, y, z) = |x - z| + |y - z| and a mapping $F : X \times X \to X$ by

$$F(x,y) = 2\sin\left(\frac{\pi}{12}(x-y)\right) + 2.$$

It is easy to see that F is a I-non-decreasing and non-increasing mapping and, for some $k \in (\frac{\pi}{8}, \frac{1}{2})$,

$$S(F(x,y),F(x,y),F(u,v)) \le k[S(x,x,u) + S(y,y,v)]$$

for all $x, y, u, v \in X$, where $(x, y) \preceq_I (u, v)$.

If $\{x_n\}$ and $\{y_n\}$ in X are two sequences such that $(x_n, y_n) \preceq_I (x_{n+1}, y_{n+1})$ and $x_n \to x$ and $y_n \to y$, then $(x_n, y_n) \preceq_I (x, y)$ for all $n \in \mathbb{N}$. If $x_0 = 2, y_0 = 2 \in X$, then $2 \leq F(2, 2)$ and $2 \geq F(2, 2)$. Therefore, all the conditions of Corollary 2.10 hold and so there exists $x = 3, y = 1 \in X$ such that 3 = F(3, 1)and 1 = F(1, 3).

Theorem 2.12. Let (X, S) be a bounded, complete S-metric space, P and Q be one to one continuous mapping from X into X, $A : X \to PX \bigcap QX$ be continuous and P and Q be commutative with A. If for every $x \in X$ there exists $n(x) \in \mathbb{N}$ so that for every $y \in X$:

$$S(A^{n(x)}x, A^{n(x)}x, A^{n(x)}y) \le q \min\{S(Qx, Qx, Py), S(Px, Px, Qy)\}$$

where $q \in (0,1)$, then there exists unique element $z \in X$ such that z = Az = Pz = Qz.

Proof. The proof is similar to the proof of Theorem 1 from Hažić [4]. Let $x_0 \in X$. Since $AX \subseteq PX \bigcap QX$ we can define the sequence $\{x_n\}_{n \in \mathbb{N}}$ from X in the following way:

$$Qx_{2k-1} = A^{n(x_{2k-2})} x_{2k-2}, \quad k \in \mathbb{N},$$
$$Px_{2k} = A^{n(x_{2k-1})} x_{2k-1}, \quad k \in \mathbb{N}.$$

Let

$$y_n = \begin{cases} Qx_{2k-1}, & n = 2k - 1, \\ Px_{2k}, & n = 2k. \end{cases}$$

Let n = 2k. Then

$$\begin{split} S(y_n, y_n, y_{n+1}) &= S(y_{2k}, y_{2k}, y_{2k+1}) = S(Px_{2k}, Px_{2k}, Qx_{2k+1}) \\ &= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k})}x_{2k}) \\ &= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k})}P^{-1}Px_{2k}) \\ &= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k})}P^{-1}A^{n(x_{2k-1})}x_{2k-1}) \\ &= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}S^{-1}A^{n(x_{2k})}x_{2k-1}) \\ &\leq q S(Qx_{2k-1}, Qx_{2k-1}, A^{n(x_{2k})}x_{2k-1}) \\ &= q S(A^{n(x_{2k-2})}x_{2k-2}, A^{n(x_{2k})}x_{2k-2}, A^{n(x_{2k})}Q^{-1}Qx_{2k-1}) \\ &\vdots \\ &\leq q^{2k}S(Px_0, Px_0, A^{n(x_{2k})}x_0). \end{split}$$

Similarly, for n = 2k + 1

$$S(y_{2k+1}, y_{2k+1}, y_{2k+2}) \leq q^{2k+1} S(Px_0, Px_0, A^{n(x_{2k+1})}x_0)$$

We shall prove that $\{y_n\}_{n\in\mathbb{N}}$ is a Cauchy sequence.

$$S(y_n, y_n, y_{n+m}) \le 2S(y_n, y_n, y_{n+1}) + S(y_{n+1}, y_{n+1}, y_{n+m})$$

$$\le 2(S(y_n, y_n, y_{n+1}) + S(y_{n+1}, y_{n+1}, y_{n+2})$$

$$+ \dots + S(y_{n+m-1}, y_{n+m-1}, y_{n+m}))$$

for every $n, m \in \mathbb{N}$ and $q \in (0, 1)$, it follows that $\{y_n\}_{n \in \mathbb{N}}$ is a Cauchy sequence. So there exists $z \in X$ such that $\lim_{n \to \infty} y_n = z$, i.e., $\lim_{n \to \infty} S(y_n, y_n, z) = 0$. Since $\{Px_{2k}\}_{k \in \mathbb{N}}$ and $\{Qx_{2k-1}\}_{k \in \mathbb{N}}$ are subsequence of the sequence $\{y_n\}_{n \in \mathbb{N}}$ it follows that

$$\lim_{k \to \infty} S(Px_{2k}, Px_{2k}, z) = 0 \text{ and } \lim_{k \to \infty} S(Qx_{2k-1}, Qx_{2k-1}, z) = 0.$$

Since

$$S(Px_{2k}, Px_{2k}, Ax_{2k})$$

$$= S(Px_{2k}, Px_{2k}, AP^{-1}Px_{2k})$$

$$= S(Px_{2k}, Px_{2k}, AP^{-1}A^{n(x_{2k-1})}x_{2k-1})$$

$$= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}P^{-1}Ax_{2k-1})$$

$$\leq qS(Qx_{2k-1}, Qx_{2k-1}, Ax_{2k-1})$$

$$\vdots$$

$$\leq q^{2k}S(Px_0, Px_0, Ax_0).$$

Taking the limit as $k \to \infty$ we obtain $\lim_{n \to \infty} Ax_{2k} = z$, i.e.,

$$\lim_{n \to \infty} S(z, z, Ax_{2k}) = 0.$$

Then we have the following

$$S(Az, Az, Pz) \leq 2S(Az, Az, APx_{2k}) + S(Pz, Pz, APx_{2k})$$

= 2S(Az, Az, APx_{2k}) + S(Pz, Pz, PAx_{2k}).

Taking the limit as $k \to \infty$ we obtain S(Az, Az, Pz) = 0 which implies Az = Pz. Similarly we can prove that Az = Qz. Let us prove that $\lim_{k\to\infty} A^2 x_{2k} = z$.

$$S(Px_{2k}, Px_{2k}, A^{2}x_{2k})$$

$$= S(A^{(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{2}P^{-1}Px_{2k})$$

$$= S(A^{n(x_{2k-1})}x_{2k-1}, A^{n(x_{2k-1})}x_{2k-1}, A^{2}P^{-1}A^{n(x_{2k-1})}x_{2k-1})$$

$$\leq qS(Qx_{2k-1}, Qx_{2k-1}, A^{2}x_{2k-1})$$

$$\vdots$$

$$\leq q^{2k}S(Px_{0}, Px_{0}, A^{2}x_{0})$$

and letting $k \to \infty$ we have $\lim_{k \to \infty} A^2 x_{2k} = z$. Using continuity of A we have

$$Az = A(\lim_{n \to \infty} Ax_{2k}) = \lim_{n \to \infty} A^2 x_{2k} = z.$$

Now, it remains to be prove the uniqueness of the common fixed point. Suppose that there exists another common fixed point $p, p \neq z$. As $z = Az = A^2 z = \cdots = A^{n(z)} z$, we have

$$S(z, z, p) = S(A^{n(z)}z, A^{n(z)}z, A^{n(z)}p) \leq q \min\{S(Qz, Qz, Pp), S(Pz, Pz, Qp)\} = q \min\{S(z, z, p), S(z, z, p)\}$$

and final result z = p.

Acknowledgments: The third author is supported by MNTRRS 174009.

References

- R.P. Agarwal, M. A. El-Gebeily and D. Óregan, Generalized contractions in partially ordered metric spaces, Appl. Anal., 87(1) (2008), 109–116.
- [2] I. Altun and H. Simsek, Some fixed point theorems on ordered metric spaces and application, Fixed Point Theory Appl., 2010 (2010), Article ID 621492, 17 pages.
- [3] T.G. Bhaskar and V. Lakshmikantham, Fixed point theorems in partially ordered metric spaces and applications, Nonlinear Anal, 65 (2006), 1379-1393.
- [4] O. Hadžić, On common fixed point theorems in 2-metric spaces, Review of Research faculty of Science-University of Novi Sad, Volume 12 (1982).
- [5] J. Harjani and K. Sadarangani, Fixed point theorems for weakly contractive mappings in partially ordered sets, Nonlinear Anal., 71(7-8) (2008), 3403–3410.
- [6] V. Lakshmikantham and Lj. Ćirić, Coupled fixed point theorems for nonlinear contractions in partially ordered metric spaces, Nonlinear Anal., (2008), doi:10.1016/j.na.2008.09.020.
- [7] N.V. Luong and N.X. Thuan, Coupled fixed points in partially ordered metric spaces and application, Nonlinear Anal., 74(3) (2011), 983–992.
- [8] Lj. Ćirić, D. Mihet and R. Saadati, Monotone generalized contractions in partiality ordered probabilistic metric spaces, Topology and its Appl., (2009), doi:10.1016/j.na.2009.08.029.